Tfn 3Ly i 2 * 15
AT 44 < A AR 5 AHT _ HDRIBE
g ks @ B W w4 [P FEEEREIBEITOBES
% 1% # i 1% #
bl e VL /]SRRI R AR 50 | 1.1 (Wl 4. OpE 6. TiE 3. 45 3.
EFCEAS o Hittak 50 Ll%2&%2ﬁ%ljtld
v EiE 1 1 S@mRm 1 AR R0
1 ERSEHR S PN o A DR —h 8 29 | —
2 _LERLRLA o sk 50 | L.L|H 25 34 73 73
RREME (Wi FEfTHR#ZET) Bv
1 JREEIR BN o [ R fioo7L 4 - -
2 _ERCLU o il 50 | Liff 32 49 | —
WRLIE Z AR E Ay SRR
1 RS B 9 o0 2 T DR —ft 24t 34— —
2 _hRELMSL O i 50 | L1 30 44— —
R/ NBERT R R (RREEAR) By
B OVELTE K BT S EERRA
1 FRIERBHIE P o B A i DK e —E 13 17— -
2 _EERRAO ik 50 | L1 17 230 8. 3l 8.3
RECLAA O Hitkel 50 | 1.1 %0 8. 1t ;&12%12
HE ORI ERRNR (S0E HEHE) Bu
1 FREERELMG P o i X #ioLepi 25 |~
2 _ERLS o R 50 | 11|k 24 32— —
LRRESt O BB R
1 JREiR B P o 5 DO —fh 8. T 13— —
2 _LRELM o 50 | L1 124 18l 8. 3l 8.3
RREEER
1 BREEHREUIR P o R Hh KR ~W 188 29— -
2 EfLMt oo iR 50 | L1 21 34— -
LIBT-F/A- oIt 5 S1A
1 R B PN 0 3 F Ml X — 10 14— —
2 _bRCEAS D Hitisy 50 | Lipfoisfo 19— =
L BRI o ik 50 | 1.1 [ 5. 00 8. 80 1. LG 1.1




Tfn 3Ly i 2 * 2H
i RETR4 A AR = ART _____ %@%ﬁi’%% _—
g ks @ B W w4 [P FEEEREIBEITOBES
% 1% # i 1% #
W kR ERE 1 1 F@fa R SA 7m0
1 SRR PN O R A Hh B R I B
2 LR 50 | 1.1|F 25 34 73 7Y
VB 2R BB
1 JREEHRIRUM I P o f5 F K I #olopE 19— —
2 RO Hhlg 50 | L1 16 20/ 9.2 9.2
WE ZAH R
1 RSEHR B N O R B —l g o8 14—  —
2 _ERREU o sk 50 | L1 124 184 10H 10
ERELASh > Hitdeh 50 | 1.1 |fli 5. 1 8. 12 1.2
33 Bl EEHEY 50 | 1.1 B0 8. 40 I3l 3. 3K 3.3
ERELASR o Hutgk 50 | 1.1l 2, 4l 2. L1 1.1
7y BBEE S ERCUA 50 | 1.1t 6. ol 9. 50 3. 3% 3.3
ERELISN O Hitgk 50 | 1.1l 2 40 2. 1Ot 1.0
Ll WS =R R
1 REHR SR o B M —ft 1 18— —
2 _EREEIA O 50 | L1 1T 24— —
JELH = A | #R7B
1 JREER BN 0 B M I —E 0. 56 16 - —
2 LECLIA o MR 50 | 1.1 15 200 8. 3 8.3
EFCLAS 0> itk B0 | 1.1 RE 7.0ME 9. 1 1 40 1.4
Z| AhEE ESPERIATA 50 | 1.1 i 8.9 1L 3. 3 3.3
ERCLASE O Hiksk B0 | 1.1 B 1.8l 2.8 11 1.1
L) BER RREME (REZARILSEED) By
1 IR PN 0 R KR —f 28t 4 - -
2 LRSI 50 | L1 33 49 | —
EERLAML o iR 50 | 1.1 [WE 8. 7E 11 1.4 1.4
T WoEE R R AN (ZhEHEE) hn




SF 3FES ﬁ% 35 2% 3E
HEETAT 4 . KRR = AR ERBRE

g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg i 1% #
U Tk 1 BESEIR SR N O B FH Hh DXChE —W 1T 25— —
2 LR O Ui 50 | L1jH 24h 32— -
FJRAEDN
1 ERSEHR S PN o A DR —E 24 38 | —
2 _RELS o 50 | L1 29 48 @ — -
VRIE = AR
1 JREEIR BN o [ R Molopn 18— —
2 RSO 50 | L1 16 24 —|  —
ERELASR o s 50 | 1.1 b 6. Lt 8. 6 1. 40 1.4
7z| RiEmRERANG (XhEEEH) Bo
L BRSEHR S P oD B A H K B 158 24— —
2 _LERCLASh O HaSR 50 | L1 24 32 |
VR /B RIT P BRBR TR
L BRI N o B2 P —l 9.8 16 —| -
2 BRSO 50 | L1|H 16 21 8. 3l 8. 3
VRLIE = AR B TR
1 BRI P o R Hh —ft 1 15— —
2 LRCLUA O iR 50 | 1.1 16ff 2200 8 3 8.3
LFCEAS D Mtk 5O | L1 8 4WE 1od 140 1.4
N K VBRI RPN (ShEHEE) Ry
1 B SElRBRG PN) o J H Hh (XCh —fE e 24—  —
2 RSO MR 50 | L1if 24 32 | -
REMHE (REZARLKRLET) By
1 FREER B P 0 B A DI #oospi 400 | —
2 EBELS o R 50 | 1L.1|F 33F 5 - -
YRS/ N AT FE RO
1 BRI N o0 B o108t 16— -
2 hRELS O HE 50 | L.1|4 16 mﬁsaﬁs&




Tfn 3Ly i 2 4E
AT 44 < A AR 5 AHT _ HDRIBE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i eg i 1% #
O sk bk VR A R
1 SRR PN O R A Hh B —E 1 e~ —
2 _LEPS O 50 | L1|F 16 2200 8. 3%E 8.3
WIEZARILE (REHEBEZR) B
1 JREEHRIRUM I P o f5 F K I #oispE 23—~ -~
2 RO Hhlg 50 | 1.1 18% 3 -
 ERELAS o0 Hilg 50 | 1.1 [fh 7 40 Lu 1. 40 1.4
AR REAERN
1 SRt LI P oD B DK I Mo2spn 40— —
2 _LREEAS i 50 | L1 33 49— —
WL =oAL
1 JRSEHR B P 0 % T DX g —l 13t 19— -
2 RIS M 50 | L1 18 2gfr 12 12
ERELISN O Hitgk 50 | 1.1 8. LB 120 1. 480 1.4




